INTERNATIONAL KANGAROO SCIENCE CONTEST

Answer Sheet

PRE ECOLIER LEVEL (Class 1 & 2)
- Fill all boxes of answer sheet using permanent ink.

Roll No XEENODGRO06

District Code XX Institution Code Xm0
Student Name RADOSOBOOKIDMN KN

Father Name JROEENN ALK MOONK KON XL

Class/Grade X

Institution Name  EXNIOGOUMEMNOCN X XHANX
Address

District XXX

Choose only one of the five proposed answers (A, B, C, D or E) and fill in the box with your answer.
Example of correctly filled table of answers is:
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INTERNATIONAL KANGAROO SCIENCE CONTEST

Answer Sheet
ECOLIER LEVEL (Class 3 & 4)
- Fill all boxes of answer sheet using permanent ink.
Roll No XEEIDO006
District Code XX Institution Code xExX3¢
Student Name RACDORODOORKIONKNL
Father Name 2R MK NN AP XN K|
Class/Grade X

Institution Name  EXNIOGOUMEMNOCN X XHANX
Address

District XXX

Choose only one of the five proposed answers (A, B, C, D or E) and fill in the box with your answer.
Example of correctly filled table of answers is:
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INTERNATIONAL KANGAROO SCIENCE CONTEST

Answer Sheet

BENJAMIN LEVEL (Class 5 & 6)
- Fill all boxes of answer sheet using permanent ink.

Roll No 008 XXMM

District Code XX Institution Code XmI0(
Student Name EOM DD XN

Father Name mmL

Class/Grade h 4

Institution Name  XAGOBDOAOONMMON XXX

Address NEXXXNENEXMIONXENPOORE

District AXNERK

Choose only one of the five proposed answers (A, B, C, D or E) and fill in the box with your answer.
Example of correctly filled table of answers is:
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- INTERNATIONAL KANGAROO SCIENCE CONTEST'

Answer Sheet

CADET LEVEL (Class 7 & B)
- Fill all boxes of answer sheet using permanent Ink.

Roll No DB XBAGTLX

District Code xx Institution Code XXX
Student Name XK KRR XXX

Father Name MO MR B X
Class/Grade £

Institution Name

Address

District REM

Choose only one of the five proposed answers (A, B, C, D or E) and fill in the box with your answer,
Example of correctly filled table of answers is:
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